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(1) Calculate the equivalent resistance Rab in the circuit of Fig. 1.
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(2) Find the voltages at the three nonreference nodes in the circuit of Fig.2.
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Figure 2
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(3) (a) Find the Thevenin’s equivalent circuit of the circuit shown in Fig. 3, to the left of
g

the terminals a-b. (20%) (b) Then find the current through RL = 6Q.
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Figure 3

(6%)

(4) (a) The voltage v = 12 cos(60¢ + 45°) V is applied to a 0.1-H inductor. Find the
steady-state current through the inductor.

(12%)

(b) The voltage v= 10 cos(100 + 30°) V is applied to a 50 «F capacitor. Find the
steady-state current through the capacitor .
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